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Topic:- Physics

1) A jeep of mass 1000 kg moves along a circular track of radius 20m. If the coefficient of
friction between the jeep and road is 0.64, then the maximum velocity with which the jeep can
move without skidding is (g = 10m/sz): /

1000 fHERITT FooH™ 1 T iy, 209 a1 & T geita vy W gadt 31 afe shiv sz
TSP & o THUT OIS 0.64 B, <t Sifwmaw A7 fora=t siiy fam firwa g I@dt 8: (g

=10 H/A2)
1.5.6m/s/ 5.6 U™
2. 113 m/s /113 HA
3.33.6 m/s /33.6 HIA

4.22.4m/s/22.4 52

Correct Answer :-

e 113m/s/ 113 WA

2) A potential difference of 10V is applied across a conductor of conductance 5071, The
current through the conductor is : /

TP 501 T TH AP W 10V FT fAUTTaR UG foman Srar 8 | Irae & areaq |

QHT%?T ‘EI'RT%:
1. 25A
2. 60A
3. 50A

4. 30A



Correct Answer :-

e 50A

3) The graph between the length and the square of the time period of a simple pendulum is a
2/

TP YIYRYI A 1 ddTs 3R T9Y 3af & a7 & S &1 U6 gian 8:
1. Parabola / Udddg

2. Circle / gt
3. Straight line / et ¥
4. Hyperbola / 31fd TRaed

Correct Answer :-

« Straight line / e} T

4) The density of mercury is 13.6 g em™ in CGS system. Its value in SI system is: /

Hohed yumell A UR &1 99 13.6 g cm™ 8 | THSITS YUITEl! § SHHT HIF 1T
1.13.6 x 10% kgm™>

2.13.6 x 10° kgm™

3.13.6 x 10% kgm™

4.13.6 kgm'3

Correct Answer :-

. 13.6x 103 kgm™

5) The angle of dip at a certain place where the horizontal and vertical components of the
earth’s magnetic fields is: /

TS I3 R W Afa Sivr (@1 $ifw fEu) 919 #¢, 181 gdt & gasig & & afaw
IR HWETeR Ueh RIS gid 8:

1. 60°
2. 45°
3.30°

4. 75°



Correct Answer :-

o 45°

6) The magnetic field induction at a point 4 cm from a long current carrying wire is 1053 T.

The magnetic field induction at a distance of 2cm from the same current carrying wire will
be: /

YRT YaTfed H 91d T da R A 4 A} R T g R gaa g &7 WRr 1031 31 99
RT FTfgd B a1a dR & 2 A BT g3 IR gD 1a & U7 gI:

1.2x104T
2.2x103T
3.3x103T
4.4x103T

Correct Answer :-
¢ 2x10°3T

7) The angle between two vectors -2i + 3j + k and i + 2j — 4K is:/
ar afe=i -2i + 3j + k 3R i + 2j - 4k F T FTHIVT B

1. 180°

2.0°

3.90°

4. 45°

Correct Answer :-

e 90°

8) The focal length of an equi-convex lens in air is equal to either its radii of curvatures. The
refractive index of the material of the lens is: /

wﬁwwgﬁaﬁvﬁuﬁwmsﬂaﬂmﬁm%wﬁ?ﬁ%lﬁw%w&
Ca| :

1.2.5
2. 1.5

3.1.33



4. 1.25

Correct Answer :-

« 15

9) The time period of a satellite of earth is 5 hours. If the separation between the earth and
the satellite is increased to 4 times the previous value, the new time period will become:/

gt & TH AeATSE DI GHY AGfY 5 °eT 21 afe Yt 3R Aewrse & S guTHur B
Td 99 A TSTH< 4 THT a9 P a1 oIrat ¢ ot 75 gy 3afy ghft:

1. 30 hours / 30 ©¢
2. 10 hours / 10 ©¢
3. 80 hours / 80 ©¢
4. 40 hours / 40 ©c

Correct Answer :-

e 40 hours / 40 ‘a%

10) The total energy of simple harmonic oscillator is proportional to : /
TR T QAP P o SHolf 3P HTIUIID SRA:

1. Velocity / T

2. Square root of the displacement / foRma & aﬁqﬁ

3. Square of the amplitude / STIH & I

4, Amplitude / 3TUH

Correct Answer :-

« Square of the amplitude / 3TITH & il

11) The energy required to move a satellite of mass ‘m’ from an orbit of radius 2R to an
orbit of radius 3R is:/

‘m’ SHA P TP Jedrsc B 2R 3501 a1 T $&f T 3R U1 910 v wef # 7fa HA & forg
3TaRg® FHolt I HET 8

1. mgR
2. (mgR)/12

3. (mgR)/8



4. (mgR)/2

Correct Answer :-

« (mgR)/12

12) The core of a transformer is laminated to: /

TS CIBTHR &1 $R 9 g AfFes glar g:

1. Reduce the flux leakage / Udlg EGIEEIE R TGk 1%111

2. Reduce the power loss due to eddy current / HaR YRT & BRI ﬁaﬂﬁ gaP FAIA D feam
3. Reduce hysteresis loss / %@ﬁ@ﬁ &‘lﬁf B HFABIA B ﬁ«m

4. Reduce copper loss / did @t efd Pl PA DA B fam

Correct Answer :-

« Reduce the power loss due to eddy current / YR YRT &b BRI ﬁ?ﬂﬁ & &I HH B & Q|

13) If the red light is replaced by blue light for illuminating the object in a microscope, the
resolving power of the microscope: /

gfe TP Geaexil d avg &1 A HIA & fore ara yom=n & ey S ufowfia #1
T Smar 8, ot gerexif ot fave e

1. Increases / dg STt % I

2. Decreases / hH Bpf STt % |

3. Remains unchanged / 3ufafdd gl %I
4. Gets halved / 3t f-?[ STTct %I

Correct Answer :-

 Increases/d@ STt % |

14) A liquid taken in a vessel cools from 70°c to 60°c in 5 minutes and 60°c to 50°c in 7
minutes. The room temperature is:/

TP I A foram mar a=dt, 5 fiFe A 700¢ | 60°c 3R 7 A H 60°c A 50°c B ST B
ST 2 | SHY DT AIH 8

1. 28°C
2.23°C

3.30°C



4,25°C

Correct Answer :-

e 30°C

15) A nucleus X™ emits one « - particle and two B~ particles. The resulting nucleus is : /
TP A1fHSD ,X™, TP « - BT 3T &) B~ BN BT Iosid Bl g | uRomHt T1fie 8-

1. n74Ym'6

2., Y™ 4

3. nXIn—4
4, nxm'6

Correct Answer :-

16) A machine gun fires a bullet of mass 40g with velocity 1200 m/s. The man holding it can
exert a maximum force of 144N on the gun. How many bullets can he fire per second at the
most? /

U AN T, 40T SSUHTE &1 TH Meil B1 1200 T/ F A7 T SR 81 59 UH S ardl
ATt Igd W ARIGA 144N FT I T THAT § | 98 Uid b s Sifdwad forast
TRl Rt Wt 52

1.6
2.3
3.48

4.1

Correct Answer :-

17) With increase in temperature, the angle of contact in a liquid: /
AT H gfeg & 1Y, Th aRA BT TR BIVT (T TP Bleae) :
1. First increases and then decreases / q%@r dedl % 3R bR Tear %’

2. Increases / de WIIdl %



3. Decreases / Y SIIdl %
4. Remains constant / FRR Igdl %

Correct Answer :-

« Decreases / Jc SIIdl %

18) 1t a is the Bohr’s radius, then the radius of Li™" ion in its ground state, on the basis of

Bohr’s model is : /

qfe 2, TR I A1 3, O IR Al & YR W D! (HHaH SEARATH Lit 1 Bl
ﬁ\_qu%:

1.ay/2
2.2y /4
3.a0/3
4. a

Correct Answer :-

. 30/3

19) Boiling water is changing in to steam. The specific heat of boiling water is:/

ST U HTT § Sga 78T 2 | I U 31 fafkry o €:
1. Zero /

2. Less than one / T 4 &H

3. Infinity / 3{-d

4. One / T

Correct Answer :-

« Infinity / 3{=d

20) At a certain place, the horizontal component of earth’s magnetic field is 1/7/3 times the
vertical component. The angle of dip at that place is: /

% fAfia ®IMA ), guft & gaota 83 &1 gfas gew, Heafer ged &1 143 [T 81 39

1. Zero / Y



2. 60°
3.45°
4. 30°

Correct Answer :-

. 60°

21) Area under force-displacement graph gives: /

-fIITT 1% & Sfefa &7 A gan &:
1. Work / T

2. Impulse / 3T

3. Momentum / ol

4. displacement / fa=ymo=

Correct Answer :-

. Work/w

22) A strong magnetic field is applied on a stationary electron. Then the electron: /
% fRR A9 R TP U9 gao1a &F ar] fear a1 81 99 gadei:
1. remains stationary / IR T B

2. moves perpendicular to the direction of magnetic field / W &3 &1 fo=m ¥ deaq nfaiia
garg|

3. moves in the direction of magnetic field / W 833[ &I |EQII H Tadr %I
4. moves opposite to the direction of magnetic field / W &5 &1 fo=n & fauid T %I

Correct Answer :-

 remains stationary / RR Jedl %I

23) If an alternating current of 50Hz is flowing through a conducting wire, then how many
times does the current become zero in one second: /

e 50 T F} TP TATad| YRT TP HATED IR A TP 98 &1 ¢, Al Th A | URT
frat IR Y B o 8

1. 125

2.75



3.25
4. 100

Correct Answer :-

- 100

24) A long spring is stretched by 2cm and its potential energy is U. If the spring is stretched by
10 cm, then its potential energy would be:/

TP ol A P 2 T 9 Wi orar 8 3R 59! fRAfas oIt u g1 afe sari &1 10
It 9o War o ) et fRAfas St gift:

1.25U
2.5U
3.U/5
4.U/25

Correct Answer :-

« 25U

25) Which of the following statements is TRUE if the filaments of 40W and 80W bulbs are of the
same length? /

fFrafafad & A S19-91 $Y9 981 © afe 40w 3R 0w ded & fraric THH daTs & 82
1. 8OW filament is thicker / SOW ATl fhaHe 31 Ih?T%I

2. 40W filament is thicker / 40W dTdT flhaTHC 3HfePH HleT %I

3. Both cannot have the same length / G @1 ?‘IEWSc A 76! 81 gohd! % I

4. Both are of same thickness / GIF TJH lﬂ?:'ré & %I

Correct Answer :-

« 80W filament is thicker / OW dTell flhardie 3ifd AT g1

26) Which one of the following is a fundamental quantity?/

fFrafafa & ¥ F19-30 ve ga 1l (resed Faifed)) 82
1. Weight / 99

2. Work / T

3. electric current / fGgd YRT



4. frequency / 3‘”@%

Correct Answer :-

« electric current / 4G URT

27)
A p-n junction diodeis connected to a batterv of emf 5.5V and extemal resistance 3.1k as

shown below. The barrier potential in the diode is 0.4V . The current in the circuit is: /
U p-n AfEr SIS, SUATH 55V H v dell R awd vl 5.1kQ F ST 53 ¢
Sar & e gamar mar g1 srs F 3R Fse 0.4v R oy 7 awr €

5.1Kk0
[-]
LA
I/'\
I|i |‘
5V
1. ImA
2. 2mA
3. 1.08mA
4, 1A

Correct Answer :-

e ImA

28) A sphere of mass 10kg and radius 0.5m rotates about an axis passing through the tangent at
a point on its surface. The moment of inertia of the sphere about the tangent is:/

10 fFIT. SEra™ 3R 0.5 Hier Har aren e e, 3HS! 9ds R & fig R w=i-3ar | Tora
arelt ¢ WR gwar 8 1 TRi-3ar & ARy SR Mar $T Tedargut A 8

1.2.7 kgm2
2.3.5 kgm2
3.4.5 kgm2
4.5 kgm2

Correct Answer :-

29) The electric flux from a cube of side ‘a’ is ‘®’. What will be its value if the side of cube is
made ‘2a’ and the charge enclosed is made half? /



YWl ‘2’ 9Tl Toh U ¥ faqgd WaT1g @’ B 1 i 971 Y YIt D1 <22’ 941 f301 9I1Y SR Herur
S(TART T SATT B 4T SITY & SHBT T HIH SN2

1.9/2
2.0
3.40

420

Correct Answer :-

e ©/2

30) The path difference between two wave fronts emitted by two coherent sources of
wavelength 6280 A° is 2.5 micron. The phase difference between the wave fronts in radianis: /

T S 6280 A° TS S G Wil GRT IAToId ) dRATRI & S TiaR 2.5 ATSHIA
B13&T A RIRI & g i 3

1. 25 radian / 25 &

2. 2.5 radian / 2.5 (ST

3. 20 radian / 20 X[$T

4, 25n radian / 25n ISTA

Correct Answer :-

« 25 radian / 25 X(STT

Topic:- Chemistry

1) The complete hydrolysis of DNA yields: /
1T &1 quf 5Td 31 (FT3S ) I ST 8:

1. B-D-2-deoxyribose, phosphoric acid and uracil / B—D—Z—@\ﬁﬂ@ﬂ?‘lﬂ@ﬁ, BIEhING 3T 3f]

2. B-D-2-deoxyribose, phosphoric acid and adenine / B-D-Z-@ﬁ&m, TIRBIR® 3RT 3R

3. B-D-ribose, phosphoric acid and thiamine / B-D-led\IH, TR 3T 3R YT

4, B-D-ribose, phosphoric acid and uracil /B—D—led\l%l, BIEhING 3 @T@@lﬁ

Correct Answer :-

» B-D-2-deoxyribose, phosphoric acid and adenine / B—D—Z—@Hﬁ?ﬂﬂﬂiﬂ\?{, IR 3T 3R



2) Which among the following is the strongest acid? /

fraffad # @ B9 G deiqd o 82

OH
@
Z 5
1.
OH
.
i
NO,
2.
OH
-
i
Cl
3.
NO,
4,

Correct Answer :-

OH

.



3) Which among the following is a biodegradable polymer? /
fFrafafad o @ F19-91 T Jaf = agas 2

1. Nylon-2-nylon-6 / TTI@F-2-TddAI-6

2. Polyvinyl chloride /qﬁﬁwm

3. Bakelite /é%l‘s;‘c’
4. Polythene /qﬁaﬁ:[

Correct Answer :-

+ Nylon-2-nylon-6 / AGA-2-AIA-6

4) An organic compound contains 40.687% of C, 5.085% of H and the rest is oxygen. The
empirical formula is: /

TP HTAAP AAPS A ¢ BT 40.687 % , H BT 5.085% MR AW TR 8 1 SHBT MIHRAD
SERIE CIRRICIEERCE

1. CoHsO

2. CH30,

3. C3H,0,

4. C4H30

Correct Answer :-

+ CH30,

5) The mole fraction of a solute containing non-volatile solute is 0.20 and the vapour pressure
of the solvent is 0.75 atm. What is the lowering in the vapour pressure of the solution? /

TR-aTw=ild facra god U faaa &1 7id 3i=1 0.20 § 3R faaa® &1 a0 319 0.75 atm B
faeas & arwee # Ry w82

1. 0.2 atm
2.0.15 atm
3. 0.30 atm

4. 0.6 atm

Correct Answer :-

e 0.15 atm



6) Potassium iodide reacts with potassium permanganate in dilute alkaline medium to form

Y

& futor & fore 9o &g v & Rrw smateTss, vy AT &
a1y fferar sear g1

1.10,"
2.10,

3. 103~

4. I,

Correct Answer :-

7) Which of the following is a suitable test for the distinction between CH3CHO and
CgHs5CH,CHO? /

fraferfad & @ S9-97 cH3CHO 3R C4H5CH,CHO & T W HR- & oI Suga UT&oT
&2

1. Benedict’s test / Sfade URI&UT

2. Tollen’s test / ST gR1eor

3. lodoform test / &W@Wﬁqﬂ&m

4. Fehling solution test/wwqﬁw

Correct Answer :-

« lodoform test / STISIBTH TI&fur

8) In potassium dicyanoargentate (I), the Roman Numeral represents the .
TRy sEEAIsree (1) #, A9 3 31 ufaffirea sar g1
1. charge on the complex / dHd TR SIER

2. coordination number of the complex / {-igpﬂ D GHY JH1
3. oxidation state of central metal ion / PSIT YT ST BT SHTRATHT AR
4, secondary valency of the central metal ion / b Yrg 3H1a-4 CARFGIRE RS BISESI)

Correct Answer :-

« oxidation state of central metal ion / PSIT Y1d 31y D1 HIRITHUT TR



9) The vitamin which has a metal atom in it is: /

fore fyerffq ¥ urg wu Aed vem) glar g ds A ©:
1. VitaminD/ﬁET&l:fD
2. Vitamin C / ﬁET&I:TC

3. Vitamin B, / [dCTi®F B

4. Vitamin B12 /]%ET&I:T B12

Correct Answer :-

. Vitamin B12 /ﬁ?@q B12

10) A solution contains mixture of CaCl, + AICl;. In order to precipitate only Al as

aluminium hydroxide you should add: /

TS fIea ® caCl, + AIC1, &1 fiyor 8 | TegHifad grssiarss & U d »ad Al
A& fid H & e smue! e aifee:

1. NH,Cl + NH,OH
2. NH,Cl + NaOH

3. NaCl + NaOH

4. NaCl + NH,OH

Correct Answer :-

. NH,CI + NH,OH

11) In Freundlich adsorption isotherm, the value of 1/n is: /

WwIg-Sferr Sf=yor §Hardt 9% &, 1/n $THM ¢

1. 1 in case of physical adsorption / Wifdes sifrenyor ) fufa & 1
2. 1 in case of chemisorptions / THGRNYUT T fRUfT & 1

3. Between 0 and 1 in all cases /Fﬁ-ﬁ@«ﬁ@fﬁ 0 S'ﬁT 1H &

4. Between 2 and 4 in all cases /Hlﬂw H2 G?IT 4H T

Correct Answer :-

« Between 0 and 1 in all cases / I} fRUfaA & o AR1Fd



A gas expands from 200 ml to 500 ml under a constant pressure of 2 atm. Calculate the work
done by the gas. /

U T 2 atm & 1A 319 & 3idifd 200 fAeh A soo fAreh d@ yafyd gidl 81 9 gr1 fpu
T ST B T B |

1.30.795 ]
2.121.59]
3.(-) 30.795 J
4. (-) 60.795 J

Correct Answer :-

. (-)60.7951

13) Latent heat of vaporization of water is 540 cal gm™ 1, Calculate the entropy change
observed during evaporation of one mol of water./

ST & TRl Bt T ST 540 cal gm— | 1 T & TP A & ATSHIUT & SR
Hféra Trerdt uftad= ot o B

1. 367 cal mol™ ! /3.67 thal
2.2.6cal mol! /2.6 Wlﬂal
3.26 cal mol™ ! /26 thﬁl
4.1.82 cal mol™ ! /1.82 W'ﬁnﬁl

Correct Answer :-

« 26calmol /26 Far Al

14) In a solid, oxide ions are arranged in CCP. 2/3 of the tetrahedral voids are occupied by M
cations and 1/3 of the octahedral voids are occupied by N cations. What is the formula of the
compound? /

T 3, sifearss 3ma- Wi # sqafRud gid &1 aqwpas g Rfcai & 2/3 R
AT M AfYPR @A & 3R pwas i Rl & 1/3 IR ¥4 N PR v@d 2
P &7 T 71 3?

1. MN403

2. M4NO3

3. M3N4O



4, M3NO4

Correct Answer :-
« MyNO;

15) IfKClis doped with 104 mol% of SrCl,, then what is the concentration of cation

vacancies? /

Tfe KC1 P SrCl, ¥ 10 4 mol% & 1Y e gy wirar 8, &t e-ra= Rfdal &t Tigar «n
o2

1.6.02 x 1017
2.6.02x 108
3.6.02x 1017
4.1.0x 102

Correct Answer :-
. 6.02x 1017

16) In the first order reaction, the concentration of the reactant is reduced to 25% in one
hour. The half-life period of the reaction is: /

uyH Hife Bt AfHfrar A, ifprRe & Tigdr U G | 25% dF HH gl Sl g
sifferar &1 Srefy &1 8-

1. Y2 hour / % el
2.2 hours /2 He
3.4 hours /4 He
4.1/4™ hour / 1/4 gl
Correct Answer :-

« Y hour/ % Ycl

17) An anion X with mass number equal to 37 has one unit of negative charge. If the anion
contains 11. 2% more neutrons than electrons, then what is the symbol of the anion? /

37 & SRR SHHT ST 9T BUTIT X A THRIHE MY H1 TP FHTS g1 afe B
o gade- @t a1 1 11. 2% IS i g, Ot BT &1 et w1 82

1. X3



2. 1gX3°"
3. 15X37"
4. X3

Correct Answer :-

18) In which of the following cases will entropy be decreased? /
fFrafafea @ 9 fea Rufa ¥ gerndt ge s

1. Hard boiling of egg / 318 BT W I« (_E'ﬁ SgfeiT)

2. Decomposition of a compound / T W BT AYUICH

3. Stretching of rubber band / Y&} CEEAKEE

4, Evaporation of water / SI¢T o] qredtemRor

Correct Answer :-

« Stretching of rubber band / YdX 33 CAKGEI

19) Which one of the following is the most stable diatomic species? /

frafafea # & o9 aad R ffuwanges sifa @ ixh) 32
1. N,
2.0,
3.0,
4.0,

Correct Answer :-

20) Which one of the following compounds when heated with 60% KOH would give an
alcohol and a salt of carboxylic acid? /

fFrafafad &  S19-91 NP 60% KOH & 14 TH g IR 3ehigd 3R Praiaaferd
3+ T TP Ul IMT?

1. Benzaldehyde /éﬁ%@]‘@'



2. Butanoic acid / SgcIgeh 3%
3. Butanone / @@:h:[
4. Butanal / al%_"l?f

Correct Answer :-

« Benzaldehyde / ﬁ%@ﬁg

21) Which one of the following transition metals has no electrons in the ‘s orbital’ of the
ultimate shell? /

Prafifaa § 9 e deau uig § im0 & s Ta & o1 saaerT Te glaT &2
1.Pd (Z= 46)

2.Y (Z=39)

3.Ru (Z= 44)

4. Mo (Z=42)

Correct Answer :-

« Pd (z=46)

22) Which one of the following pairs of elements have anomalous electronic configuration to
acquire stability due to the symmetrical distribution of electrons (elements: P, Q, R and S
with Z values equal to 27, 29, 24 and 22 respectively)? /

@l & Fafafed # 9 $19-3 g | sagel & quii faavur & $rRor R ara $31 & g
famfagf s e fa=rw 82 (2 w19 9fdd d@: P,Q,R 3R S HURI: 27, 29, 24, 22 F JHH
)

1.SandQ/S3‘ﬁTQ
2.RandS/R3RS
3.Pands /P3RS
4.QandR/Q3MRR

Correct Answer :-

. QandR/Q3IRR

23) Which one of the following properties is NOT shown by carbon monoxide (CO)? /

fFrafafEd & @ Fa-a1 quresf ST MAeieEs (co) gRT 8! g=ifar o 82

1. It is a neutral oxide. / 8 U dc'(I{-InI-I &ITd{-II‘iS %I




2. It is diamagnetic in nature. / g uopfa H Hi?lt\idcbnlq %I

3. It reacts with O, on heating to form CO,. / g CO, AT & foe T A W 0, & 1Y
siftifspar A B

4. Its bond order is equal to 2.5. / STD MY PHife (s m 2.5 %W%I

Correct Answer :-

« Its bond order is equal to 2.5. / STP MY PHife (s 3{\@) 2.5 $W%I

24) Which among the following pairs will show anisotropy? /

frafifad & @ S19-91 g fAHeRiedr (@agHend) exfem?

1. CaF, and ZnS / CaF, 3R ZnS

2. Glass and charcoal / BT 3R AHS] BT HIIAT (TRBIT)

3. Plastic and graphite / @Re® 3R ‘:N?I$C

4. Diamond and charcoal / 81RT 3R TS| BT HIIAT (ARBI)

Correct Answer :-

« CaF, and ZnS / CaF, 3R ZnS

25) Which of the following aqueous solutions will be basic in nature? /
frafafea # & -1 sefta faea= yofa o amita ghme

1. Sodium chloride / ATSTH FARTZS

2. Sodium acetate / ifsgH Qﬁl%?

3. Ammonium nitrate / mfgH :|T§a?:'

4, Potassium sulphate / tiefRrH Iethe

Correct Answer :-

« Sodium acetate / GSTH TRICC

26) Which of the following colligative properties is used to determine the molecular mass of
egg albumin accurately? /

3iS B TegfiA & SuTfas soaw 1 gyfyar & Fuffia w3 3g FefafRa i 3 o
¥ Uy i &1 AT far wimar 82

1. Osmotic pressure / UTIRUT qId



2. Elevation of boiling point / U HT AT

3. Depression of freezing point / feHich BT a0

4. Relative lowering of vapour pressure / 9T qId dT qroférss Ao

Correct Answer :-

« Osmotic pressure / UTHRUT qId

27) Which of the following processes involves the use of Buffer solutions? /
frafafed # & S1-3 uftear 9w faea=1 &1 Suahn mida ot 32
1. Preparation of potash alum / grer=r UciH (WW) EAKGLIR]]

2. Tanning of leather / E|'J:|§ BT FHMYA (%ﬁ'rf)

3. Manufacture of fertilizer / GW 1 fafmfor

4. Maintaining the pH of blood / Ydd &I tﬁQﬂ JATE XGAT

Correct Answer :-

« Maintaining the pH of blood / Yad &1 HTT ST IG-T

28)

The rate of the reaction 2NO+Cl,=*2NOCl is given by the rate equation, rate=k[NO]*[Cl.]. The value of
the rate constant can be increased bv: /

INO+Cl»2NOCL T JTaAfhar g &1 g GHRRUT, §T =k[NOP[CL] & garT &ar Jrdr &1 &X
faRi® &1 A CaRT FErm ST Hehcll

1. Increasing the temperature / dTYHIA o ‘q’@

2. Increasing the concentration of Cl, , Cl, DI Figard Q'@
3. Decreasing the temperature / dTUHIA T ol

4. Increasing the concentration of NO / NO &1 digal & dfg

Correct Answer :-

« Increasing the temperature / dTUHIA | Q@



Forareaction ¥: A 2 2B, the rate of disappearance of ‘A’ isrelated to the rate of appearance of ‘B" by

the expression: /

Hiafear = A2 2B & v, A& ocd 811 1 aX (¢ 3% fSeefizriE), B & usciaor &I

X (3T 3w vl § id ANl Tered &l
dlA] _  d[B]
TS
—d[A] _ d[B]
, dt dt
~d[A] _1d[B]
N T T
d[A] _1d[B]

. dt 4 dt
Correct Answer :-

d[A] 1d[B]

. dt 4 dt

30) How many a and g particles are emitted in passing down from go,U238 to g,Pb206? /
0, U238 T g, Ph2%6 geh TR &I # fFaM o — 3R ¢ - HUT SN gl &2

lL.a=4,=10

2.0=10,p=4

3.0=6,5=8

4.0=8.3=6

Correct Answer :-

Topic:- Botany

1) Which of the following is the contribution of Nierenberg and Khorana? /

fFrafafea ¥ 9 et 3R TR &1 g™ $ib-a1 32



1. Suggested the relationship of inheritance and metabolic diseases /
IR SR U=t AT & Haies BT ga

2. Discovered B-DNA / B—SnI'J,'-IU, CARCIN

3. Synthesis of artificialMRNA / BT mRNA T HZAHOT
4, Proposed Chargaff's rule / dIR7Th a9 &1 gfdureq

Correct Answer :-

« Synthesis of artificial MRNA / BTIH mRNA BT YA

2) Which of the following polypeptide chains has the correct sequence of amino acids? /
frafafea & @ o19-4t uiftriess g & srfia) o &1 Hel 3gHd o2

1. Glycine, methionine, lysine, valine /‘?ﬂ’s’Eﬁ:f, ﬁﬁlth:ﬁ:f, ?ﬂ?ﬁﬁ:f CRIGH

2. Lysine, valine, methionine, glycine /?ﬂ%@:[, aﬁﬂ—ff, ﬁfﬁaﬁﬁ, ’?ITE?ﬂ:[

3. Valing, lysine, glycine, methionine/aT'ﬂ:f, C1I${-Iﬁl"l, ‘Clls{-lnl"l, ﬁfﬂuﬁﬁ

4. Methionine, glycine, valine, lysine / AfITI, TSI, e, A

Correct Answer :-

« Methionine, glycine, valine, Iysine/ﬁm:ﬂ:f, ‘Q1I${-Inl'-|, aﬂnl'-l, cil'i{-lnl-l

3) Polypeptide chain formation in protein synthesis is initiated by: /

W Txawo & ikrierss S@ar At 59& R IR T ST &:
1. Aspartic acid /me 3T

2. Glutamic acid /w ST

3. Alanine / Qﬂllal:l
4. Methionine / BIY3f==

Correct Answer :-

« Methionine / B39

4) Chiasmata are first seen in: /

HATRIST (BTSVSHET) B JAuyH 9 & @1 T
1. Pachytene / ®[cIUS (ﬁﬁﬁ)



2. Zygotene / GHUE (SITSTICH)
3. Diplotene / @t@' (%@'é’lﬂ)
4. Leptotene / dJUS (@f@?ﬂ:D

Correct Answer :-

« Diplotene / @t@ (%@EPFD

5) Biodegradable wastes are less harmful pollutants to us than non-biodegradable wastes.
Which of the following groups contains only biodegradable wastes? /

SafHIHIU FIR, SSTTHIGRUIY FaR B a1 | gHIR I $9 g eRS ugu® &l
frafafad # 3 fra g A Paa Saf- oo s 82

1. Bubble wraps, PVC pipes, and Bakelite switches / WW, LIRSl LIEL] 3R aﬁﬁ? Rag

2. Empty milk sachets, old cloth, and DDT /@Wﬁgﬂ% ﬁ&ac, geﬁ HUS 3R 3
3. Plastic cans, grass, and DDT / T‘ITW%, IR 3R SISId]

4. Wood, spoilt food, and vegetable peels / ('10b5nl, qJol HioH 3R Tfesral & fods

Correct Answer :-

« Wood, spoilt food, and vegetable peels / (‘10|05nl, SIE] i 3R Tfesral & fdd

6) The number of meiotic divisions involved for the formation of 100 seeds is: /
100 o1 & fAmtor & Twfera SreiRgE faurei &t 9= &:

1. 125

2. 50

3.200

4. 400

Correct Answer :-

e 125

7) The presence of a single copy of a particular chromosome in Aneuploidy is called .

SRTOrET & T fa=Iv Uy 3t T ufa &t IufRufa Fgardt 3
1. Trisomy (2N+1) / FATUREAT (2N+1)
2. Tetrasomic (2N+2) / @&W (2N+2)



3. Nullisomic (2N-2) / Tg=g_ET (2N-2)
4. Monosomic (2N-1) / Uh=gI{A (2N-1)
Correct Answer :-

« Monosomic (2N-1) / UhgHA (2N-1)

8) The basic concept in food processing methods to prevent food spoilage are: /

QT TRTE 8 & AHA & fore @rer wivwror faftrl o ga srauron §:

1. All of these / SURTeRT GHT

2. Lowering of temperature during storage only / Had HSRU & Cﬁil"l dTYHT b hH G\I"II
3. Removal of water moisture only / Had UM &t TH DI FHepTerr

4. Reduction of pH only / PHad diad &1t

Correct Answer :-

« All of these / SURTad gt

9) The process of guttation takes place when /

fig dra @t ufrar a9 g1l 8, 919:

1. The rot pressure is high and the rate of transpiration is low. /
IS BT Ga1d b BidT & 3R aTSIIGoi 1 & HH Bl 8

2. The root pressure as well as the rate of transpiration is high. /
OIS GaTd P Y- Ao 1 o 31fdeb giell 5 |

3. The root pressure is low and the rate of transpiration is high. /
TS 1 aTd HH BIdT § 3R ISl & X 3T Bial g

4. The root pressure is equal to the rate of transpiration. /

OIS a1d, Aol 1 &R & SRIeR gIdT 8|

Correct Answer :-

 The rot pressure is high and the rate of transpiration is low. /

S 1 EaTd e il & 3R Aol Bl &R BH &Il 2

10) The wood obtained from a gymnosperm is called ./

Tgasteht (R & e ae gl &1 EHE I



1. heartwood / 3{d:bTY

2. sapwood / XHh S

3. softwood / "IXH w
4, hardwood / ¥ aﬁ

Correct Answer :-

« softwood / -IRH m

11) The universal rules of nomenclature include: /
AU & At Fraul § aftfd 8
1. Only the first part is Generic epithet and second part represents specific epithet. /

Had Tgal YT AT Tahaue (SR Tfiee) 8idT 8 SR geRT HT fafdiy Ydhdug
@fYfthe Tftree) & <l 8|

2. Only the name has to be derived from Latin or Latinised. /
$HId ATH B dfe I deTgss § g fordr ST =1

3. Only scientific name should be written in italic if printed and underlined if written /

HId gfad fHd T W I71% A1 &I 3efere H forar ST 1T Sk ford oM oR Yaifasd
[CRISIBIGITHY

4. All of these/ ST It

Correct Answer :-

. All of these/ ST Tt

12) The photoperiod response of the plants is perceived by the ./

eyl ot Sifcaera (wierdifvas) ufafear P gRICE! STl 2|
1. floral buds /Ug_(’ﬁaﬁm
2. leaves / TN

3. flowers / Y
4. Meristems / faHUsaId® (ﬁﬁ@ﬂ)

Correct Answer :-

o leaves/ Qﬁ‘ﬂff



13) Professor M. S. Swaminathan is known as the father of ./

WY TH.TY. WHATYA & & TP & U | ST 11 g |
1. White revolution / §d ifd

2. Green revolution / §Rd wifd

3. Red revolution / AT shifd

4. Blue revolution / e wifd

Correct Answer :-

o Green revolution / Eli(‘l Hifd

14) In a typical nucleus, some regions of chromatin are loosely packed, transcriptionally
more active and lightly stained are called i

e ARy doa ¥, wiifed & $o &7 Rifda v 3 i, gfreea w3 ot
W@ﬁ?%ﬁ?ﬁﬁ%ﬁ@ﬁ%ﬁ% GG IR

1. Euchromatin / Wﬁ:{
2. Chromosome/ ShIHIRII

3. Chromatin reticulum / ﬁﬁﬁ:{m
4. Heterochromatin / %‘@ﬁﬁﬁq

Correct Answer :-

 Euchromatin / ﬂ?ﬁﬂﬁ:{

15) Cooking of food at temperatures just below the boiling point of water (82°C to 99°C) is
known as: /

\-sm(%zocﬁ99°C)%$W%aﬂ$ﬁ%mﬂwmﬁﬂﬂﬁumﬁw$mﬁm
ST &

1. Boiling / &Il

2. Pressure cooking / WW’[

3. Steaming / HIY I AT

4. Simmering / Rmf ar e

Correct Answer :-

. Simmering / RN a1 REREmEr



16) When can we consider two animals belong to same species? /
&l SIHaR] 31 §H TS 1 SIlfd T Hd HIF Thd 82
1. If they look alike and produce same number of off springs. /
afg 3 T ON e € ud wm T B wafa &1 Fafor wva
2. If they have same number of chromosomes. /Zlﬁ 5'14:[ A 98T H TUIRA Eﬁ?f %I
3. If they have more than 95 percent of similar genes. / i 31 95 Tfc=Ia ¥ S1fed I SiA gl

4. If they can interbreed freely under natural condition and produce fertile off springs. /

Hﬁég%u&@mﬁwdﬂ ¥ Y B0 B Jhd & Ud UoT&H Tdfd Bl STH ¢
JHd gl

Correct Answer :-

« Ifthey can interbreed freely under natural condition and produce fertile off springs. /

H%%;TWU&WJ?&M =T A B0 B Jbhd & Td UoTH&H Tdfd Bl TH ¢
Jhd gl

17) Polyploidy in plants cannot be induced by: /

dieif # IgIforaT (UTewiss) 39 gRT U e fpar s Jwdr @
1. Heat/cold shock / TTH/GST ACh]

2. Colchicine / IR

3. Centrifugation / {Td %0l

4. Lime water / :ﬂqq'l:ﬁ

Correct Answer :-

+ Lime water / =ﬂqm¢ﬁ

18) In which of the following ecosystems, inverted pyramid of biomass can be observed? /

Frafifag § @ vy uiifRufte d 8 s ¥ Sw fRifis & 3ar s aeare?

1. Marine / 9H%
2. Tundra / GgT

3. Forest / d-

4. Grass land / dR1g

Correct Answer :-



« Marine / H4%

19) Identify the chemical signals used by organisms for communication./
HaR & forg Sial gRT 7N f6d o1 are Imaf e dea g
1. Allelochemicals only /hddl 3= XTTT (TATRYTI)

2. Kairomones only / HId HRIAH

3. Pheromones only /Had BRI

4. All of these / IUdad T+t

Correct Answer :-

« All of these / U Gt

20) Which among the following is NOT a part of 2-celled pollen grain? /
fraffed # & $19-91 2-SIReT WRAT 51 31 fewa 181 82

1. Exine / §TeJ el (YRITS)

2. Generative nucleus / SUGH g (SRIcd FfFaad)

3. Male gamete / X THDH

4. Vegetative nucleus / BIAH o (dfvicfed m

Correct Answer :-

« Male gamete / X JTHD

21) Which among the following statements is INCORRECT regarding “Flavr Savr” tomato
variety? /

fFrafafad 7 @ 919-91 FYF "war JaR AR o1 fAfdydar & IR & Taqd 22

1. It was produced by the Californian company Calgene./ SYPI fafor W Pl BT
e A far |

2. It was the first commercially grown genetically engineered food crop./
g Ugdll AadTiie =0 ¥ f[deRid dfRie U I Foi-R @ Had At
3. Production of polygalacturonase was blocked to ripen without softening. /
GIATCIaRIY BT SAG AH T a1 U & foTw sraweg T
4. Tt has short shelf life and poor nutrient quality./ STH 37T 3Ad Siidd 3R YIS dcd P11 JUCKI

RIS gt g |




Correct Answer :-

« It has short shelf life and poor nutrient quality./ Eﬂﬁ 3¢ 3 Sita 3R U ded b1 T JUUCKI

WIS gl g

22) Which of the following is rightly paired ?/
fFrefafaa o @ sF-a1 v 98l afia 82

1. All of these / ITdad Tt

2. Acrocentric : centromere is at the centre / 31H|raigcb: uUI{j\alfag HEHTI
3. Metacentric : centromere at the middle / A&IDH4: Tﬂﬁﬁﬁg A A gId g
4. Telocentric : sub-terminal centromere / {dg!: B’qﬁqﬂm

Correct Answer :-

. Metacentric : centromere at the middle / H&bHE!: W@@waféﬁ%l

23) Which of the following features helps in transportation and storage of seeds? /
frafafea 3 9 -3 fatuar disi & uRag= ik HsRU A #eg #3dl 82

1. Seed coat only / CLNICISIERUY|

2. Dehydration only / FHad STl

3. Dormancy only / PHad Qﬁf&[

4. Both dehydration and dormancy / IEERICEUREIN Elﬁﬁ Gl

Correct Answer :-

« Both dehydration and dormancy / fieliauT 3R U gl

24) Which of the following phytohormones is a stress hormone?/
Frafif@a § @ o19-91 BEde ™ T 9919 g/ (89 8TH) 82
1. Cytokinin / F@Wﬁ:{

2. Gibberellin / fSTaRferT

3. Auxin / R

4. ABA / TdIT

Correct Answer :-

. ABA /TEU



25) A cell with 16 chromosomes is treated with colchicine. How many chromosomes will the
cell have at the end? (Note: The chemical colchicine interferes with spindle formation.) /

16 TURTAT aTelt Th BIRABT (I) B DI & A1 SuATRd fbar orar 8 | S
@mgmﬁmﬁwﬁ?(ﬁamﬁﬁaﬁ%ﬁqﬁm%mﬁmm
HRATg )

1. 32
2.40
3. 16

4. 24

Correct Answer :-

26) Replication of DNA occurs in:/
S o yfaefa feT & gt 3:
1. S phase / S UTARIT

2. G1 phase / G1 UTd®RJT

3. G2 phase / G2 UTdR[

4. M phase / M UTdRIT

Correct Answer :-

+ S phase /S UTARYT

27) The plastid that stores lipids are: /
forfrs = Wufea o3 ardt wnfes &
1. Chromoplast / PR

2. Elaioplast / SRS

3. Aleuroplast/ Q?ﬂﬁw
4. Amyloplast / SHA@RE

Correct Answer :-

« Elaioplast / SATEIRE



28) Pollen grains are well preserved as fossils because of the presence of: /

@t IURRATY b FROT IRIT Ho1 Sfiarel &+ F et e & WA 5a 2
1. Sporopollenin / R
2. Cellulose / @ﬂ?ﬁq
3. Cellulose and pectin / @ﬂ?’ﬁﬂ 3R TfdeA
4. Cellulose and sporopollenin / @ﬂ?ﬁg 3R WRTAfAA

Correct Answer :-

« Sporopollenin / TR

29) The arrangement of axonemal microtubules in 9+2 fashion is seen in: /

%??ﬁam&mﬁ(mm)aﬁwﬁwﬁm

1. Cilia only / dhad geaTY (Rferm)

2. Centrioles only/ Had dRDHD

3. Both cilia and flagella / U&HTH (ﬁlﬁ*l’ﬁl'f) 3R Had BB Gl
4. Flagella only / Hdd HRIMTIDT

Correct Answer :-

« Both cilia and flagella / G&HTYH (Rrferam) 3R Had HMYHT g1

30)  Which variety of wheat has higher protein content and has been used as a donor for
improving cultivation of wheat?

g @1 fr fpa o idH &) siftre g1t 8 oiik 39 g &) @t & gur & fore gran
P U § XA fHaT SITdT 82

1. Sonalika / GITeIeRT
2. Himagiri / REIRIN
3. Atlas 66 / TCIH 66

4. Kalyan sona / & ¢IU[ T

Correct Answer :-

+ Atlas 66 / Ucd¥ 66

Topic:- Zoology



1) which of the following day is observed on July 11 th every year? /
Frafafea § 3 o9-a1 fiaw vds ad 1 Jars &) 79 \iran 382
1. World Women Day/ﬁ%mm

2. World Population Day/ﬁ”dwm

3. World Health Day / fa%y T faad

4. World Environment Day/ﬁ”a’wm

Correct Answer :-

e World Population Day/ﬁ%{ﬁﬂﬁ'@ﬂm

2) The system of Binomial Nomenclature was given by: /

feue Amusfa ot yomreht frad gr TS o
1. Carolus Linnaeus /a’ﬂﬁ?ﬁﬁ'ﬂ?

2. Strickland / ®1HAS

3. Huxley / BRIl

4. Charles Darwin / 1@ SId-1

Correct Answer :-

e Carolus Linnaeus /Wﬁ?ﬁﬁw

3) The karyotype of genetic disorder which exhibits Gynaecomastia is: /

AR PR o1 FRECTY (URETRY) Y Mee AT (&g, f$) wekfd

Il B

1. 44+ XYY
2. 44+XXY
3. 44+XXX

4. 44+XXYY

Correct Answer :-
o 44+XXY

4) The tissue that is found below the skin and stores fat is: /
AP Sl @Il b 1 UTT ST @ 3R T4 Y TUfRd Bl &

1. Ep